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Masse : .,<1 .. 5
R~th~e ~e Vir~ge:.. ~ .'. .
15 % ni-t.eteMlRor-elle
Capac i té'· CIL. .
Transporteur: ". a·,·
ArMeMent:

1 Laser lourd
..fi Lasers Mo".:::Cens

~ .
..fi Lasers legers'
6 Ra~ons perturbateurs

12 Drones "1"
6 Drones "2~

Puissance:
Ré'acteurs: 57
Piles: a

24 Equipes d'Abordage

CUIR~)?SÉ.:IèL.A.:gGq1\t
(prefTIiere cla.sse) " .

r -- -- -_ GilIt

CROISEUR KLARGON
(deuxiSofTIe cla.sse>

Masse:: 1 .. 0
R~thMe de Virage:
19°/unit~ teMPorelle
Capacité' du
Transporteur:
ArMeMent:

9 Lasers
..fi Ra~ons

..fi Drones
2 Drones

Puissance:
Réacteurs:
Piles: 3

1..f1 Equipes d'Abordage


